ERMAO (5163 A 1 HRE)

X 4 AOAN) | #HEHAER)
KFEKXKR 10 6
RFRK 117 55
K=F L5
WiF—TH 511 206
WiF=TH 695 352
I =TH 857 405
ILIZmTH 1,895 770
I HETH 282 212
RFEKF 32 20
BAXF—TH 362 147
BAXFZTH 1,127 417
BKE=TH 1,235 475
RAFWNTH 66 25
KFILHE 7 3
[LE—TH 1,165 471
[LE=—TH 1,198 537
L3E=TH 688 302
[GEEMT B 1,399 632
LHERATH 649 262
KEH—TH 847 358
KEFE_TH 2,284 1,104
5E—TH 815 426
BEZTH 721 348
HFE=TH 1,865 909
RF&FH 27 9
BHF—TH 373 194
BRAFEZTH 213 86
WHFE=TH 260 101
RAEMTH 404 180
RAERTH 429 187
BEHE 347 160
LII—TH 1,167 645
LIIZTH 2,841 1,105
KFESE
=E—TH 423 175
EEZTH 575 273
=E=TH 1,004 425
=11 2,153 719
=WUE—TH 1,232 572
=WUE—-TH 1,418 738
ZFNith

=k 31,693 14,011




